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uH AT
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1 T TS 23.6 TR A 8 O e 30 S I R | 9 A, a7 W, 124 Pl A
et & P foem i et A U A 11 3 3 R § | et o 9w i |
(A) 1103, (B) 1507t (©) 1207 (D) 105t

A train running at 23.6 kmvhr takes 30 seconds to pass a platform. Next, it takes 11 seconds to pass a man
walking at 12.4 knvhr in the opposite direction. Find the length of the train.

(A) 110m (B) 150m (© 120m () 105m

2 10% 1 2 31 5 =12 8% F1 A1 TTH F3 3 1e70, 71 Tt & Sifopet et 1 (o iy g 2t = 2
To gain 8% after allowing a discount of 10%, by what percent must the marked price be hiked from the
cost price 7
(A) 1% (B) 19%

(©) 20% (D) 18%

3 %ﬁﬁgﬁmsﬂws.‘zéwwﬁw,aaﬁwqwa&nmaommﬂaﬁwmﬁﬁ%w
)

The ratio of the ages of A and Bis 3 : 2. Ten years hence, the sum of their ages will be 80. What are their
respective present ages (in years) ?
(A) 36,24 ®) 27,18

(©) 45,30 (D) 42,28

4 T ST % 3,825 JAT T & SR TE 4 e i fewdi F 8 A 1 w0 e | Al e e @i
Fedtfsren) o i 7 4% &, o e e o g e i |
A doctor borrowed T 3,825 and he returned the money in two equal yearly instalments. If the annual rate of
compound interest (compounded annually) is 4%, then find the value of each instalment.

(A) T2377 (B) T2,028 (€) 1,783 (D) T2275
5 e BB He T i i 24, 48 i 60§ i FrarERi |
Find the smallest number which will be completely divisible by 24, 48 and 60.
(A) 240 (B) 120 © 0 (D) 480
6 BT 0 A ST R @12, 15, 16 S 18 F dieRdl § @2 8 ol oqewar Fee =i @ | At an

e & o 3 o S et it v w2, o e S e e i
An officer of the army wants to arrange his soldiers to stand in rows of 12, 15, 16 and 18. If he wants to
arrange them in a solid square also, then find the minimum number of soldiers.

(A) 3600 (B) 180 (©) 1440 (D) 900
7 1 EEATHT 1 ATH 36 & S AHA (HCF) 4 & | 6 Gt & fra gm v € 2
The sum of the two numbers is 36 and their HCF is 4. How many pairs of these numbers are possible ?
) 2 ®B) 1 © 4 (D) 3
8 o $7 6 et s s Fertve o ft & 27 o w e e @ 2 e A A # A 1L e s
10 5 7 H o1 & 1 3 8 e
(A) 20 Frefiriar (B) 16 Frefisiar (©) 17 Frsfirsiar (D) 18 Frefteir

ion of the train

A train takes 11 seconds and 10 seconds to cross 2 men who are walking in the same dir
at the speed of 6 ki/hr and 5 km/hr respectively. Find the speed of the train.

(A) 20 kevhr (B) 16 kmv/he (C) 17 knwhe (D) 18 kmvhr
9 9 T F 150 A o o &1 i, 15w o sttt Fmore 165 Rt wrfen
T | A i S T
(A) 165 HFTL (B) 100 w=gT (C) 150 Fofx (D) 155 "wgT

Some workers could complete a work in 150 days. However, due to the absence of 15 workers it was
completed in 165 days. Then the initial number of workers was :

(A) 165 workers (B) 100 workers (C) 150 workers (D) 155 workers

10 A, B 10% T i 30 & HR0T 1 T E 30,000 IR TR | S T F AR B T A A B0 FF
T 40,000 3 T TR TR 2 | T 1 A A
A lends 30,000 to B at the rate of 10% per annum on simple interest. Afier $ years, B refurned % 40,000
and a watch to settle the dues. Find the price of the watch.

(A) 4300 (B) ©5000 (€ 3200 (D) 73,000
1 A 3B wE w10 A @ w ww § | B S C w15 R e €1 A 3 C w12 Rt d e
B 1A, B st C firerms gir fet foell 3 qu s € 2
(A) 15 @) 10fA © 17k (D) 8f

A and B can complete a picce of work in 10 days. B and C can do it in 15 days. A and C can do it in
12 days. A, B and C together can complete it in how many days ?

(A) 15days (B) 10 days (C) 17 days (D) 8days

12 TSI ST T 20 91 e S0 S T € Sl & | w7 v i |
A sum of money becomes four times in 20 years at simple interest. Find the rate of interest.
(A) 20% (B) 15% ©) 8% (D) 5%

13 T T 8 R T I 5 W 6 40% T | A g2 3 kel & e ATt 12% e S 8T 2

The printed price of an article is 40% higher than its cost price. Then, what is the rate of discount so that
the gain is 12% profit 7

(A) 15% ®) 20% (© 18% (D) 21%
14 T G T 1,700 H S T O G F 5% F @ @ | 20% o 5w w ¥ o 9 3w awg A
T T s A 2
On selling an article for T 1,700, a shopkeeper loses 15%. To gain 20%, at what price must he sell that
article ?
(A) 72,120 (B) 2,155 (© 22,100 (D) 2400
15 O T (T T O R AT 10% T 1 T 3 | af 7w i T 1,080 R 9, 9 3 10% e

AT | A e e
A book vendor sold a book ata 1oss of 10%. Had he sold it for % 1,080 more, he would have carned a profit
of 10%. Find out the cost of the book.

(A) 75400 (B) 74,420

(€) T7,400 (D) 76,480

16 T T 8 ST ZT W ST S .1 AT $ 9 S ST A 6.8 9T | 17 I it st
‘The average of marks obtained in an examination by 8 students was 5.1 and by 9 other students was 6.8
The average marks of the 17 students were :

(A) 595 (B) 59 © 65 (D) 60
17 T FAT ST TR 6 S 126 % | T 6 o g s g
The average of seven consecutive positive integers is 126. The smallest of these integers is :
(a) 123 B) 122 (©) 126 ) 135
18 o o 3 71 S S 3 4% | 10 Sfen 3 ol 1o e e e € @ s 4 2 5 S
& 1 s 3 o peror i forft o s oft 2
(A) 0= (B) s0&fRT (C) 8oz (D) 20

The ratio of milk and water in a pot is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio
becomes 4 : 5. How much quantity of total mixture was present initially ?

(A) 70 litres. (B) S0litres (©) 80 litres. (D) 20 litres
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A S B wier F 2 v ws # | afe B A A % 7id o van s 2, 6t a9 60% 75 S 2 | 75 B # A F A @
&2 T, AT A ST B 5 3 T B e 3 b 5 o S

A and B are two heavy steel blocks. If B is placed on top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight of A and B, if B is removed from the top of A 7

(A) 455% (B) 60% (© 375% (D) 40%

i i e % o ¥ e 5 g g A @ 7

(A) = (B) fmw (C) =T (D) =
How is my father’s sister’s son’s father’s father-in-law related to me ?
(A) Grandmother (B) Father (C) Uncle (D) Grandfather

Iwamad 3, 4FrAe

I4FTEE eI 4F R

J@4F A3 4w AR

I& 4T ATRI AR R

I+aFTFEEI dFEEN
L@M&N#0+P*Q#R% 350w, M, R & Frm wm afim &2
(A)y widtsft (B) W (©) 7= (D) =m=T
3* 4 means 3 is the mother of 4

3 # 4 means 3 is the father of 4

3 (@ 4 means 3 is the brother of 4.

3 & 4 means 3 is the daughter of 4.

3+ 4 means 3 is the son of 4.

Accordingto L@M &N #0+P* Q#R, how is M related to R ?

(A) Niece (B) Nephew (C) Aunt (D) Uncle
o 7y Ao ¢

(A) T : FEAH (B) 9wt A

(C) et - (D) B - S
Find the odd pair :

(A) Balance : Mass (B) Thermometer : Temperature
(C) Barometer : Pressure (D) Screw gauge : Volume

e 1,2,6,24, vl e we i)
Find the next number in the serics 1,2, 6,24, .
(A) 60 (B) 48 (€ 120 (D) 84

for %7 5 15 e, 2022 1 g o | St = e faw s w5 e | fe e e f e
oy

(A) HEER (B) y@ET (©) thrEmr (D) FuER

Siva was born on April 15,2022, The same year Independence day was celebrated on Monday. On which
day was Siva born ?

(A) Tuesday (B) Friday (C) Sunday (D) Wednesday

e 13,32, 57,88, et s g it
Find the next number in the series 13, 32,57, 88,
(A) 125 (B) 110 (€ 136 (D) 132

TG HE 7 F |
Find the dissimilar number
216,343, 504, 512,720
(A) 216 (B) s12 (©) 504 (D) 729

T T TR T A T R Tl e 6 a2 o g i fam o S e A 2 | e e gd
o foem i v g R

(A) e ®) ¥ © = (D) zfe-afa

Ramy put his timepiece on the table in such a way that at 6 p.m. the hour hand points towards the South.
Then towards which direction will the minute hand be pointing ?

(A) South (B) North (C) East (D) South-West

afe g i e & e faar g, i afgrafim i fieds g wfeentia fearsme 2

(A) FWAET (B) oL (€) iz (D) I
If East is replaced by West, then South-West will be replaced by :
(A) North-West (B) South-East (C) West (D) North-East

=211, 227,233,241, # STl HEAT i HI |
Find the next number in the series 211, 227, 233, 241, .
(A) 263 (B) 251 (©) 257 (@) 2717

afE SCREW I RCSWE ¥ 7  foram o1 2, 97 NAILS 1 50 Yo, foran s
If SCREW is written as RCSWE, then NAILS will be written as :
(A) AILNS (B) NAISL (C) IANSL (D) INALS

T TR AT B TS S T A 8 7 S A # | W A= O i, T 66 5
ftwa 3 swfear 28 8 fatyeier 6 ot & 2.5 fire 3 v w p AR & | e G E

(A) 896007 i, (B) 79600 3 .

(C) 84600 a7t 1. (D) 99600 = &t

A rectangular field has its length and breadth in the ratio of § = 7 respectively. A man riding a bicycle,
completes one lap of this field along its perimeter at the speed of 28.8 knvhr in 2.5 minutes. What is the
area of the field ?

(A) 89600 sq. m (B) 79600 sq. m

(C) 84600 5. m (D) 99600 sq. m

e 1% CATASTROPHE ¥ S747t} 1 v wIer 309 # -t o ST &, i oo e 3 o -1 vt
T A 0

If the letters in the word CATASTROPHE arc rearranged in the alphabetical order, which one will be in
the middle in order after the rearrangement ?

@) s ®) P © o ® H

afE FEMALE 1 654135 3 %9 § Fzaa e T 2, LEAF i @ s b o |
If FEMALE is coded as 654135, then LEAF will be coded as
(A) 3526 (B) 3516 (©) 3625 (D) 6523
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(A) T50.5EmE (B) T325°mE (€) Ta25emm (D) T355°M@

The bar graph given below displays the percentage distribution of a company’s total expenditure across
various expense categories for the year 2013,

25 25

Expenditure Percent

Taxes
R&D
Salary

g
g

Advertisement
Interest on Loans

If the expenditure on advertisement is T 2.55 crores, then the difference between the expenditure on
transport and taxes is :

(A) %50.5 lakhs (B) T32.5 lakhs (C) T42.5 lakhs (D) T35.5 lakhs

% P S QT A 5 - 6 # 3 Q 3T R T S 142 15 %, T P 3R R T 1A T A 2
If P and Q are in the ratio 5 : 6 and Q and R are in the ratio 14 : 15, then P and R will be in the ratio :
(A) 9:7 (B) 7:9 © 8:7 @) 7:8

T T FeT @ w1 | 1S e 4 w2 e, we A siea i so e & e E )
A TR 5 o 75 o < i T 60 Pl 21 & | i § e B g e o

(A) 300 Pft (B) 290 Freft (C) 250 Freft (D) 220 f

A bus is going to Coimbatore from Kochi. With 4 stops of 15 minutes each, the average speed of the bus
comes out to be 50 km/hr. But if the driver takes the bus without any stops, the average speed comes out 10
be 60 km/hr. How far is Coimbatore from Kochi ?

(A) 300km (B) 290 km (C) 250 km (D) 220km

Evu

uféerd / Percentage
3

40
30
20 -
10
0
2000 2001
et T Y T A = 350000 setfed i 7 g wEn = 440000
Total No. of Cars Produced = 350000 Total No. of Cars Produced = 440000

S T T i (AW =) U S g 21 ant & R w7 S Sen SR s i & i v 8 |
a1t 2001 # P SR it T 7 S SR 2000 F A SR, A 2001 7 Sted P¥ww A A wen ww
ey

The Bar chart given above shows the percentage of six different types of cars manufactured by a company
over two years. If the percentage production of P type cars in 2001 was the same as that in 2000, then what
would be the number of P type cars produced in 2001 *

(A) 132000 (B) 120000 (C) 225000 (D) 145000

1992 =7 AT o Farsan i 4 7
(A) 2. fira v fie (B) THfee Imt

(C) e Amraer (D) W= aEa

iy I § AT e W, TS S o7 wien & o
(A) W (B) A (©) @ (D) 7

wifee w1 faem weE g -
(A) T (B) =& (C) @da (D) e

“sieger e 3 -6 I W

(A) W B) ¥ (© s (D)
“SHerTEr # w2
() fa (B) 7% (©) g (D)

W H 438 47T T

ST i 1 EET R 6 g T A e e e @ | fael wee v o o i A g e | A
ST 1 757 e 1 It R | g i i el awer ¥ s, w9, e, e, s i
AT 3 P £ o & e e i S I S S | S W F 3 9 W
et S T ST e 3 fore, s -Fmfon 3 e e 3 e a1 fean v @ ot | g gfed
ST S T IS o SR S S w a1 e 5 e v s wt | G e v ek e s
HETCT T H 73 7 5 1 T €, St T 1 feerlr i 3 S ot AT 8 e | s gfn e a s
A S €1 S | gefer e 7 A = w2 | e & FiE s e s w60
SR ST 6 S SR o 0 €, e e & s o st weA & | s oft whieqwit 1 drem wen
T I T F A AN G T E | A e O e A i e fm a m a ww g
LAY 29T S e e i

(A) I T R S (B) LS F R
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1 2fE & F -5 A g 2
(A) Tge o g 2 (B) Tge TG @8 ?
(C) TETEIEE? (D) TEAFMATEIE?

FH IR T e A AR 7
) (B) T ©) 7% (D) =T

SIS HT T e
(A) = (B) =® (©) &1 (D) afew

“FE T A T T E
(A) =9 (B) ®mEq (€) s (D) F&

SR T A e

(a) T (B) # © W (D) Frem
- ¥ies Forerr-fagior € 2

(4) ween (B) & (©) e (D) e
T H R 27

(A) e ®) fap (€) =gz @) ¥E
TG FATAT At e AT F1 578 71 €T 2 7

(A) Bl AT (B) & @A

(C) we=re i feufa (D) e T Rty

e e TR E =
(A) A (B) awww (C) w=t (D) &

TS ¥IeE F1 WEAETE s A8 |
(A) F= (B) e (©) Frfm (D) =

gﬂw%a’ﬁﬁ:«ﬁl@#wﬁmmﬁaﬂm&ﬁ%%@ﬂ ST F T T 1 ] e e

(A) SR ST (B) fnfg srem
() e s (D) TR SEeH
‘The research that applies the laws at the time of field study to draw more and more clear ideas about the
problem is :
(A} Applied rescarch (B) Action research
(C) Research analytics (D) Experimental research
i i P wwi fla 32
(A) i sTE (B) whTR (C) FwE (D) @iy &=
Where is the Central Agricultural University situated ?
(A) West Bengal (B) Manipur (C) Uttar Pradesh (D) Andhra Pradesh

e e sy Tl S AT S S e d A e 8 7

(A) STl ST Free i ST e i e 3 T e e

(B)  ataor ffia w1 A e e AT aee S A o

(C) o O et Forwer 36 e  Farfoer ek < et e it o forq st e faforr ot fdfar
#

(D) TR TR R ST S i E—

How does the Arctic Council help in addressing climate change and Arctic governance ?

(A) By focusing on promoting economic development and resource extraction in the Arctic

(B) By levying sanctions on member states who are not complying with environmental regulations
(C) By regulating as a governing body that dictates laws and regulations for all Arctic nations

(D) By coordinating international efforts on Arctic issues

T 3 WO T e = o 2

(A) EEFER (B) =, Tz TR

(C) i ZoTe vt (D) wier aifeat

Who was the first President of India ?

(A) Dr. Zakir Hussain (B) Dr. Rajendra Prasad
(C)  Shankar Dayal Sharma (D) Pratibha Patil

T afia 1 i T

(A) W AGNFA (B) FAURAMFAR  (C) AUF AT (D) I agE
The primary aim of a co-operative society is to ©
(A) Serve the members (B) Eam more profits (C) Raise more money (D) Raise production

e g % fo Frfafaa & & wiv-eh e frsem 2 2

Which of the following institution is responsible for cyber security 7

(A) CERT-In (B) RAW (C) DRDO (D) NIA
ifipa o e o oo 2

(A) =T (B) s (C) Femter (D) A
Sofia is the capital of which country ?

(A) Bangladesh (B) Afghanistan (C) Bulgaria (D) Benin

ety e 7 A Sees gt e 3 A A 2y

(A) =TT (B) sg=da72 (C) sg=3a7s (D) =B T4
Which Article of the Indian Constitution deals with the power of the President to grant pardons 7
(A) Aticle 73 (B) Article 72 (C) Article 75 (D) Article 74
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F-ar w1e fafire st o srgam feoafor s #1 ded R #  whm & o wmre 2

(A) T wET  (B)  whraad (e (C) s (D) =
Which term describes the process of assigning numbers to observations according to specific rules 2
(A) Hypothesis Testing (B) Sampling (©) Analysis (D) Measurement

ST T 1 F1-87 Siedq A4 (STt 1 Fean) & Feifed & ?

(A) AT 19 (B) 3i=aa 14 (C) Feda22 (D) sig=da21
Which Article of the Indian Constitution deals with the freedom of speech ?

(A) Article 19 (B) Article 14 (C) Article 22 (D) Article 21

T ¥ T e g 3 90% B Ei weem e E

() 4= (1) Fd (©) g () T
In which city of India are 90% of the world’s small diamonds processed ?

(A) Mumbai (B) Baroda (C) Jaipur (D) Surat
2011 1 VT 3 SATE R H et A AT 21

The total forest cover in India as per the 2011 census is d

(A) 23.42% (B) 17.80% (©) 2207% (D) 21.05%

RTHE TH T W ATl S e W e ?
‘What is the highest GST rate levied on white goods ?
(A) 28% (B) 12% (©) 25% (D) 18%

UNCTAD 1 i &9 2

(A) afveRiet Fui T o 33 1 Rz

(B) TATEEE T FRE HH 22 UZ ST

(C) TS 430 i 22 UE Taemiz

(D) AT S IR 3 28 US ST

What is the full form of UNCTAD ?

(A) Universal Nations Conference on Trade and Development
(B) United Nations Conference on Trade and Development
(€) United Nations Common Trade and Development

(D) Unique National Conference on Trade and Development

Tt gz e B oo Pt o o fofime o wqm e 20 2

(A) T (B) HEw (C) e (D) ==
Who suggested that *“Everyone has a specific blood group™ ?

(A) Louis Pasteur (B) Mendel (C) Landsteiner (D) Darwin

HAATSFR 241 e 2

(A) s i afe

(C) w=d=aN S e
Human rights entail both :

(A) Rights and obligations
(C) Liberties and obligations

PMIDY FA 5 ?

(A) 30%mE, 2014 (B) 1530, 2015

‘When was PMIDY launched ?

(A) 30" August, 2014 (B) 15" August, 2015

(B) TEaFaTt S st
(D) @t s sl

(B) Liberties and privileges
(D) Rights and privileges

(€) 285FRa, 2014 (D) 23, 2015

(€) 28™ August, 2014 (D) 2™ October, 2015

Frefeafian & & Fi-3 32 ¥ F A 9 e A e e

(A) T (B) ATEE

(C) wm (D) <

Which of the following country does nor share a land boundary with India ?

(A) Bangladesh (B) Maldives

i g o e o e (e e w8 7

(C) Myanmar (D) China

(A) T 7 sl 5 ferg S et st o e 1 gt

(B) St fa afeiismme 1 fawifa o

(C)  watawli s i wrare e o e s 3 4 1 siewe F
(D) TaTawT 3 STt ATt o fore frdr waa ety Few
In what ways does Green Finance support susainable development ?
(A) By facilitating the growth of industries known for high carbon emissions

(B) By funding fossil fuel projects

(C) By encouraging the exploitation of natural resources without regard for environmental impact
(D) By providing financial resources for environmentally friendly projects

Forefetan & forer e el s st 1 v oot 78 firen e

(A) i, i T
(C) wwiteA g

(B) =ifiE
(D) e s e

Which of the following former Indian Prime Minister did rot receive the Bharat Ratna ?

(A) P.V.Narasimha Rao
(C) Manmohan Singh

A H S STOMT i ATE o A STt s ot 2
(A) @i fae (B) @i

(B) Charan Singh
(D) Lal Bahadur Shasiri

(C) Wi AR (D) i sitheie

First census in India was conducted at the time of which ruler ?

(A) Lord Lytton (B) Lord Mayo

o @ i  frfe st s o e g 0
(A) T F IR (B) FATIE

(C) SirJohnNapier (D) Lord Auckland

(©) dfsTm®gE (D) ERIFIE

Which battle marked the beginning of the British colonial rule in India ?

(A) Batte of Panipat (B) Battle of Buxar

et 1 o Feeyel et w2

(A)  I=d Fle AT
(C) e g wfrmedt

(C) Battle of Wandiwash (D) Battle of Plassey

(B) =g v
(D) Tt T U 3 AR

What is a significant environmental impact of urbanization ?

(A) Higher carbon emissions
(C) Increased green spaces

(B) Decreased air pollution
(D) Improved water quality
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e wes e B - b
(A) Tt o 7 g T

(B) T SR o TORTST ERem

(C) STl =1 eI o T T e S

(D) T HFE=T S BIgEl 1 Ufeshz ST & S e shl 7i i &

The term Ransomware means :

{A) Unauthorized access to a network

(B) A type of phishing atiack

{C) A malware that monitors user activity

(D) A software that encrypts files and demands a ransom

g e, Fore o o frem aedt oft, forereh v feeft o 2 B
(A) efEmTE == (B) R

(C) Srsi waE (D) wEreEt aut

Who wrote the book ‘Sadgati’, on which a film was made ?

(A) Harivansh Rai Bachchan (B) Premchand

(C) Jaishankar Prasad (D) Mahadevi Verma

v g e g ) D
When did World War I begin ?

(A) 1920 (B) 1919 (€ 1930 (D) 1914

AT T G g A 21 B
(A) FFEI LR T (B) HT

(©) o w=m (D) T+ v sam

India’s largest forest is 5

(A) Kanha National Park (B) Sundarbans

(C) Gir National Park (D) Jim Corbett National Park

TEAT Tt S T A S G et i wee S e u s s 87 C
(A) FEE (B) W (C) =T@rT (D) #Hm

“Lathmar Holi” is a unique celebration observed in which town of Uttar Pradesh, mentioned below ?

(A) Vrindavan (B) Mathura (C) Barsana (D) Agn

I AT T TRl 2 A e o # e A
(B) T (C) ¥t (D) 3T

strict was Uttar Pradesh’s first Traffic Park opened ?

(A) Prayagraj (B) Gorakhpur (C) Amethi (D) Ayodhya

FT H 1 4 (o A A AR 7 D
(A) zfe e (B) = T

() A wwmar (D) firg =t e

The Harappan Civilization is also known by which other name ?

(A) Dravidi (B) Aryan Civilization

(€) Vedic Civilization (D) Indus Valley Civilization

T & ST o I S FEed £ 7 A
(A) sTee foret ATt (B) Atz A
(C) T e (D) it fife

Who is known as the father of GST in India ?
(A) Atal Bihari Vajpayee
(C) H.D. Deve Gowda

(B) Narendra Modi
(D) Manmohan Singh

o TR e e T T T2 ST T T 5 G CTelten S T 5 B
(A) feimss (B) X (zfen) () Fwem (D) it

Which social media platform introduced the concept of “Fleets™, similar to Instagram Storics and Snapchat

Snaps ?

(A) Linkedln (B) X (Twitter) (C) TikTok (D) Naukri

1 57 & fort v wafen o Jeerss A P Tt w5 B
Ay = (B) I (© () ffim

means taking forceful control of another person’s website.
(A) Spam (B) Web hijacking (C) Hacking (D) Phishing

T ST AT 3 At o T o o s 3w g e 2 A
(A) e (B) s&d ©) (D) T

Due to which river has an issue been created between India and Bangladesh 7

(A) Teesta (B) Brahmaputra (C) Yamuna (D) Ganges

T O T A (IBRD) 12 2 B
(A) ww@w@ﬁ%_ﬁnﬁwwmmww%ﬁam%

(D) 7@ T i e Hea 2 5T 31 SaawE i MR A T YA A e

What is the Bank for ion and D (IBRD) ?

(A) Itis a United Nations agency that focuses on poverty alleviation and social development

(B) Itis an international financial institution which provides financial assistance to member countries
(C) Itis an international organization that regulates and supervises the global banking system

(D) Itis a global financial institution that provides microfinance loans to small businesses

SpaceX— Teot it it 70 i st eiem, 1 wg-wame fmw 2 C
(A) % s (B) i simfer wsw

(€) AT (D) T iew

Who co-founded SpaceX — the first privately funded space programme ?

(A) Jeff Bezos (B) European Space Agency

(C) Elon Musk (D) Bill Gates

e it Forr 4 frrerstier 2t o 1 e i Secerta 2 & i 7, 5 e e & e o D

(A)  Serel foed TR

(B) AT &9 & EiEhT e

() few o Falr

(D) v 3w fort s often offe T foen v

The Green Revolution, which significantly increased agricultural production in many developing
countrics, primarily involved :

(A) Advanced irrigation techniques

(B) Genetically modified crops

(C) Organic farming practices

(D) High-yield variety sceds and chemical fertilizers
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FI-TT W e 7 T, o 3 e T P ov 3 forw st st 2, i v e s et
F FoT, O AT i AT S 2 2

(A) T (B) wwefamen ©) == (D) Az

Which ancient Indian text is known for its detailed treatise on music, dance and drama, and is considered a
foundational work for classical Indian arts ?

(A) Manusmriti (B) Arthashastra (C) Vedas (D) Natyashastra
BT 0 HIT -

e ;. e - =i
(A) ff (B) Fmim (C) femma (313am) (D) 3w

‘Complete the analogy :
Doctor : Diagnose = Judge :
(A) Judgement (B) Build (C) Instruet (D) Execute

AETE I

afrsiforer - aifore - few -
(A) far (B) Hfdwen
(C) =g (D) Wi
Complete the analogy :

Algebra : Mathematics :: Symphony :

(A) Painting (B) Sculpture
(C) Literature (D) Music
I AT B T S e i g

Idemtify the figure that completes the pattern.

femr s ey ot e 2

How many squares can you count in the figure ?

(A) 20 (B) 22 ) 14 (D) 18

L 11, 111 3% 1V S35 Tt St 1 A SToTae SRt 91 S o S i I | (A), (B),
3 (R Hifaey b

(C) e (D) # fafeea s daaE St T G I E A |

Study the problem figures marked I, I, I and IV carefully to establish the relationship between them.

From the answer figures marked (A), (B), (C) and (D), pick out the figure which most appropriately

completes the series.

S R

1 i i v
@ | ™[ ®| B © @] o W

Tow e frepedt A 4 3w ST e i S sifew ot 3 v 3 o w 3vge @l |

From the given options, selcct the figure which will be most suitable to be placed in the last square

{1 |~

w | g (B) ( © / o | g

oo 3 S |

Find the odd one.

TR T T 7 g, AR 3 e, <o 6 AT 5 O A e @ | e, A 4 e e gt g
(a) s B Fh (© 7 (D) AT

Introducing Sarath, Anila said, “He is the son of the daughter of the father of my uncle”. How is Sarath
related to Anila ?

(A) Nephew (B) Cousin (C) Son-in-law (D) Uncle

STl AT T Fr |

Find the next figure.

* m o E = ﬂ = E

g I i

T - T e

(A) SRR (B) 7 () ufmr (D) sizrfemT
Complete the analogy :

India: Asia :: Italy : ?

(A) Africa (B) Europe (€) Asia (D) Antarctica
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What is the next number in the series ?
Series: 9,27,81,243,
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D --Select--

Choose File | No file chosen
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(A) 623 (B) 486 (C) 591 (D) 729
et st e | D CSelect- |
Find the next figure.
x oW *
?
m All> o0 *x
® *x [ > ® «
[EV] (B) (©) (D)
A = * ]
o 3 o e e o, ey A et 1 3w e 48 e s P, o Pt v A FSelect- ]
T I AW R 2

A student made twice as many mistakes as he got correct answers, If he attempted 48 questions in total,

how many questions did he get right ?
(A) 16
© 20

FHH A FTAWE B, EH K, _?

What comes next in the sequence : B,E, H, K, _?

®) 12
) 18
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(A) R (B) N (€ M o) L
war Wil I Ui AT 8 12 S 16 3§ e 2 7 B -select- |
What is the smallest positive integer that is divisible by both 12 and 16 ?
(A) 60 (B) 48 ©) 16 (D) 9% Submit Objection
Al AT T O R e (S1eheg) & S T 3 e e (R F A 8 e A e B --Select--
() 3 T ST 5 2 €, A S () F S
®) 53§ 2 i ®) g . ) Submit Objection
(C)  rad (rwemen) (D) et (Femii)
If you have a regular dodecahedron and you slice it in half along a plane that passes through the centres of
opposite faces, what is the shape of the cross-section ?
(A) Hexagon (B) Decagon
(C) Rectangle (D) Pemtagon
Freiferfiam & & w7 % F .31 1 v 3wy sifirm wwE 8 c Fselect- |
A - (®) F Submit Objection
(C) s — e (D) T — =T
Which of the following pairs of words are most similar in meaning ?
(A) Hard - Easy (B) Bright — Dark
(C) Soft — Gentle (D) Buy - Sell
T T o 3 7 e i o e o A # | vew, T 3 anft S e B | =l ¥ O e i a2 C --Select--
g, vgw sfte 9 % ot A ) €, B ol s o ofter B 81 % ) o i el s e 2 2
@) ) © & Wil Submit Objection
Six fiiends are sitting in a circle facing the centre. Adam is sitting to the immediate left of Betty. Charlie is
sitting to the immediate right of Frank. Betty is sitting between Adam and Dan. Eve s sitting between Dan
and Frank. Who is sitting to the immediate left of Frank ?
(A) Betty (B) Adam (©) Eve (D) Charlie
72105 e e 8 o i e g e e 2 A Select- |
(A) 1275 fait (B) 130 ek
(©) 1425 faft (D) 1225 it Submit Objection

A clock shows the time as 7:15. What is the angle between the hour and the minute hand ?

(A) 127.5 degrees
(C) 142.5 degrees

(B) 130 degrees
(D) 122.5 degrees

Choose File | No file chosen

af @ Fant - AT 15 @ STIR? c -Select-- ]

If ‘@’ stands for *+’, whatis 15 @5 ?

(A) 10 (B) 20 © 3 D) 75 Submit Objection
forg 0 e 1 s T o e s + w1 e o fe e Ferwt = w9 C --Select--

Choose the correct sequence of mathematical signs to replace the placcholders * in order to balance the

given equation,
(1247%6) * 13 * 6

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Choose File | No file chosen

(A) X, — +,= ®B) +,—,+= ©) x,—, +,= [12) R
2401 : 343 F T T 9 79 A0 | A --Select--
Find a pair that is similar to 2401 : 343,
(A) 25664 (B) 216:1916 (©) 32:4 ) 9:27 Submit Objection
=i fo g o it Frese 3 s o wel farsheq v C --Select--
we
THTefior fersrET AT H qeE & oAU AR T W STEnT FaRE T o | e S o a1 9 9 e -
s fo, afr ot iy 1595 wferrat 4 # g o are fem) Submit Objection
s -
1. e o i i & i g A

1L FE T 15Y, T of 3iiT 3 T 4 FA T |

(A) e Fred 1L sgETT T R
(C) et e 1 s & 1 sgEr T

(B) et e | s o
(D) anat e 1 ar 11 s o &

Identify the correct option regarding the statement and conelusions given below :

Statement :

In the rural assembly clections, the ballot box method was used for voting. After the results came
out, it came into light that only 15% of the women in the village voted in the elections

Conclusions :

I Women didn’t know about the date of the elections.
I Only those 15% were registered and had a valid voting ID card.

(A) Only conclusion II follows
(C) Neither conclusion I nor I1 follows

(B) Only conclusion I follows
(D) Either conelusion T or II follows
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FreTtetfian et 1 ST T 3 S A 5 STA St g S S e S & 9 g D --Select--
Arrange the following words as per their order in the English dictionary and choose the one that comes
first:
Elastic; Eldorado; Ejaculate; Electrode
(A) Eldorado (B) Elastic (C) Electrode (D) Ejaculate
Freaferfien 7 & form wree & svem sl i A A € 2 c [-Select--
Which of the following words has its letters in the English alphabetical order ?
(A) Accpots (B) Acerous (C) Acerty (D) Acephal

Fraferfias ater 1 s FiRa i e R wer w3 A | C --Select--
Fow T T A e A = 3276000 © All'rights reserved
=T ferm e o % THET
3 =
A s 3 2 7 25%
B 3 1 1 4 20%
c 5 3 2 1 8%
D 3 s 3 2 12%
E 3 4 4 [ 35%

T A, B i D e 1 e e it e e o e s et e a2
Study the following table and answer the question given below.
Total population of the given States = 3276000,

Srare Gender Literate | Iliiterate | % Population
M F
A 5 3 2 7 25%
B 3 1 1 4 20%
C 2 3 2 1 8%
D 3 5 3 2 12%
E 3 4 4 1 35%

What will be the percentage of total number of males in States A, B and D together, to the total population
of all the given states 7

() 3L15% (B) 30% (© 35.1% (D) 302%

W aelte U A o A SO A e e, T S e i e e O g | T A, B --Select--
e i e g & | s < Rearferrt o o st ra R d de ey

(A) sw_afm (B) a3 (©) wfem g (D) T -=fm

An athlete starts to run positioning his back towards the Sun once after sunrise and once before sunset. He
turns Ieft, right and left again. In which dircction is he finally running in both scenarios respectively ?

(A) North— West (B) South —North (C) West - East (D) East - South

Fifez &6F 8, e o & fefit 1 e Hen ot @ e 7 D --Select--

Corporate
Sector
34%

a) 121 B) 120 (© 123 (D) 122

Sy feam & 40 et e &, e amd qea & st 30 sfer i e @ | a5 s e fag & e ot A --Select--
s a2

(A) 50 wiex <forafm (B) 41Tz

(C) 47T e (D) 45T

James walks 40 metres in the West direction, turns left and walks another 30 metres. How far and in which
direction is he from his starting point ?

(A) 50 metres South-West (B) 41 metres North
(C) 47 metres South (D) 45 metres East
afe s SreT 3w d 270 fenh b o 8, A1 v o frw R A mw E 2 A --Select--
(A) e (B) (©) = o) ¢
Which way are you facing now, if you spin 270 degrees clockwise from North at the beginning 7
(A) West (B) North (C) South (D) East
iy e 972+ INCIDENCE® Wi s et am e 2, 7 @ anct aidt foraes 1 veanif | C --Select--
Identify the correct alternative that indicates the number of fimes cach letter appears in the given word
“INCIDENCE”".
(A) LN CDE  (B) LN, G D E ©) LN; G D E; (D) KN, C Do Ey
;q:j;;qtgﬁmﬁ;q: C --Select--

Complete the sequence
ZA8, YTB, XC6, WSD,
(A) Y4B (B) ZA4 (C) VE4 (D) W4D

Fofenfia e 3 oW s s it - D --Select--
Find the missing number in the following series :

110, 132, 156, .210,240
(A) 184 (B) 176 () 190 (D) 182
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TRxsy=X+y M xay=x" -y, F3>2a =
Ifx>y=x3+ylandx@y=x}—y3 then3>2 @)=
(A) 400 (B) 370 (€) 280 (D) 420

8 T ST A AT ST A S S S 6 7 e IR e s v e A
A T

Study the given figures carefully and choose an option from the answer figures that maintains the pattem
observed in the problem figures

AT o T, TE TG W e SR Tieft o afel & | o S o | e qe 8 7

(A) T (B) WS (©) =T (D) =&

Dhwani said, “This boy is the husband of the granddaughter of my father”. How is Dhwani related to the
boy ?

(A) Granddaughter  (B) Niece (C) Cousin (D) Mother-in-law

Freaferfiar & & -7 77e2 faw 0 752 “REACHABLE” 3 Wels: 170 F1 et O a1 T ¢ 78 a1
SEEAE Y

Which of the following words eannot be formed using each letter of the given word “REACHABLE” only
once ?
(A) CHANGE (B) CLEAR (C) REACH (D) EACH

ST
What is the next term ?
B:16:E:?
(A) 54 (B) 625 ©) 128 (D) 64
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